Name: 2-Digit by 1-Digit Multiplication

( The Exercising Cow

Multiply to find the product.
Then solve the riddle by matching
the letters to the blank lines below.

Al 29 (E] 32
x b x 9
K] 98 M 15 1 70 s] 87
x 3 x 5 < 4 x 6
(E] 53 (L] 62 K] 89 Al YT
x Y x 9 x 5 X
K] 18 M 75 H] 20 59
x 7 X 8 x 3 x 9

Why did the cow do jumping jacks?

Because she wanted to

/75 5831 126 288 174

600 280 124 445 522 60 369 294 212
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A N SW E R K EY 2-Digit by 1-Digit Multiplication

C The Exercising Cow

Multiply to find the product.
Then solve the riddle by matching
the letters to the blank lines below.

Al 29 (E] 32
x 6 x 9
174 288
K 98 M 15 T 70 5] 87
x 3 x 5 x Y X 6
294 75 280 522
(E] 53 (L) 62 K] 89 Al H1T
x Y x 2 x 5 x 9
212 124 Hys5 369
K] 18 M /5 [H] 20 59
x 7 X 8 x 3 x 9
126 600 60 531
Why did the cow do jumping jacks?
Because she wantedto _M A K E _A
/5 831 126 288 174
M | L K S H A K E

600 280 124 445 522 60 369 294 212
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